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arcsinhx:x—lx3+ix5+~“+< 2) et
oo
:Enzo(_l

n ) ZaFT T
1100:

(2n—1)1
CDCTESYA
17 .7

tanm—x+3r +—w +mx +mx +-

2n+1 ooo,ol=(-nit=1.

sinz/cosz D000, arctanz 00000000000,

1200: eew:e+ea:+e:rQ+gew3+gex4+%e:v5+---



000000 INo.9

g ooooooo O

e 10 0O0ODO limits of indeterminate forms
1000 0 co—o0

(2000000 O 0- o, g,
3yooooog oo, 1%
OO0OlogOO0D0 [3]0 [2]00,[2)0 [JOOO0OO.

(.¢]
OO0
o0

0

e 0 0DODOOO L’Hospital’s rule

00 z—alO f(x), g(x) O
gdb o0 ooo 000 +£o0
gbooog )
lim@: lim f(z)
v=ag(z)  e—ag(x)
UoboonD.odld e o0 0O0ODO.

00000000000
)00000000 0000 co 0000000000 OOOO.
i) 00000 000000000000000,(00000)0
0000000, lim(flg— f¢')/¢? 000000000.

00 0000000000 (Hespital)DOOOOOOOOOO
0000000000 (Johann Bernoulli) D00 O0O0O00O0DOO
gooooooooo.wEBODDOOOOOOOODDOOOO

log x

0010 lim gooo.
rT—00

ooooo %DDDDDDDDDDDDDDD,

0020 lim zlogz OOODO.
z——+0

00000 0-c0b00O @DDDDDDDDDDDDDDDDDD.

00 30 lim COS[DDDD
x——+0 Sln.’L‘

ooooo %DDDD 000000000000, cosO sinO
goooooooooooooooboboooooo.

1.27
0040 lm (“72) oooo.

T—00 \ I —

ooooo 1~ 0000ooo0o0ooooooooooo. o4,

000 A>00000 A=exp(logd) 00000
ooooooo.

0050 y=2%(z>0)0000000.
r— 4000000000000, 0000000
ubb z,y0OO OOOO.

0060 y=2" (z>0)0000000.

r—+0000 2 —o00o 00000 OOOOODO.

ud,0b0b00b00b z,y0O0 0OO0O0OO0.000O0
oooooooo.

00000 partial differentiation

8f((,;;jy):yDDDDDDDD mDDDDD.szDDD.
8f§;;y):"EDDDDDDDD yDDDDD.fyDDDD.
e 0O ODO
Pflzy) 0 (0f(z,y)
Ox? ~ or Ox Ja2 DDDOD.
Fflxy) 9 (0f(x,y)
Oyox _87y ox foy 0ODOD.
Fflz,y) 0 (9f(x,y)
oxdy Oz Oy fra DODD.
0 x, 0 0 z,
g;2y)_%<f(ayy)) fpy 0OOD.
eI O00O0OOOOO fzy:fymDDDDD.

000 f(r,y) =2*+32%y+ 202000,
fe = 423 + 62y + 292, fy:3x2+4xy,
Jrz = @(433 + 6y + 2y%) = 1222 + 6y
(423 + 62y + 2y%) = 62 + 4y

(3% + 4zy) = 62 + 4y
(322 + dzy) = 4x

=5
8 <
N1

gwswgww

<™
<
I

J:+1

ZLHD sz—(dtsmt)

0070 f(z,y) =si 0 f., f,0000.
t =

ooooo

00 80 f(as,y) =zY 0 fxv fyv fx:ca fxya fy:vv fyy

O0000.oooo0(@) =az® !, (a*) =a*loga000.

00o0ooooooooooooog
r=a+Ar,y=b+ay 0000,

f(x,y) = fan+ fo@nar+ fyendy < DDODOOOD
+3 (fm(a,m(Ax)Q + 2 fay (@b ATAY + fyy<a,b>(Ay)2)+R3

2
fmfyy_(fﬂ?y) >000 foo { <000OoDoooo.

feafyy — (foy)> < 0000000000 (O00O).

ooooo f(e,y) O, fe=f,=000000 (000)0,
>000000000.

000 : stationary point, 00 : saddle point

0090 00000 f(z,y) = 2% +ay +y° + 2
000 000 0000000 (z,y)0000.

0010000000 f(z,y) =x(1- 122 =) D
00000 0000000 (2,y)0000.
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OEH 0000000 “total differential formula” 0D®»poooooooooog

CEZ:E(U,'U), y:y(uyv) ooo
z=2z(), y=yt), z=z2@y) 00O 0z or By 0z
dz o Oz dzx n 0z dy Ou _ ou  Ou oz
dt Oz dt  Oydt 0z ox  dy 9z
ov v Ov Oy

obooooooooOooooooooooooboo.

0000 z=z(z(u,v), y(u,v)), 0000 z=z(z,y).
oo,0z00000000bobbobooob.

o = 22(wy), F=L2ay). o Oz 0y 9
¢ ? ov o ou Ju Ou Oz
00,000 0dt0000D00O0OO z0OO0O0O0OOOO: =
5 5 0 or Oy 9
z z v 99 v O
ox oy

e 0000000, 00000000000O0O0O0OOOOOO

00 40 z = e* — “sino 0000000000
000000000000000000000000000000 T =€ cosv, Yy =e smu

0. 00000000000 20000000000000000. 0O0O.

or oy

ou o
0010000000000000000000000o0n. 080 T=( | 000B0ww0000000
00000 rfem), 00000000 m[g 000,000 gq v Ov

3 _ om :

000d plg/cm® O p=4-—5000000.0000 1l)§,§Du,v,§,a—DDDDDD
0000,r000 20em0,1em/s000000000 r oy u 2 o
0 (00 r=20, £=1). 00, m000 50g0,8¢g/s 00 iii)DDDDDDD(Laplacian)A=@+a—y2

00000000 (00 m=50, 42=8). 00000000 0

0wuv 2, 2 oooooo
p000D0 [g/em®s) 0 (00 %£0)000. T ou

ov

gb00ooooo00o,000d 0 314000000000

pooooo. oo, dooonooonooog. 00 50 u=3log(z® +y°),v=arctan 2 0000000
00000000 ¢t=00000 r=204t+O(t2), m =
50+ 8t+0O(2)000. 0000 pooooooooon  UHODOO. ou o
000 Taylor 0000 1 000000000,0000 i
00000000,000000000000000. oo T'= 00000 z,y 0000000
ou v
9y By
0.
0020000 ROODODDOODODOO VOOOOOOOO 5 9
V2 ) =, Yy, —, =— 000ooo.
00D0000000000000 W=—2000.00 3u23v , Oz dy
00 AR, 000 AVOOOODODOO, WO AwWOOO ui)a—+a— x,y,g,gDDDDDD.
ou?  Ov? oz’ Oy

000000, AW O R, V,AR AV OOOOOO. OO,

AV/V =—0.01, AR/R=0.05000, AW/WO0O000.
006004000000 05000000,000000

0000000.0000,7T0 T"0000000O000O0O
U.00,0000000000000,00000000
gooooobooog.

2
Dooaw =4 ¥ gpooooooo, 00000

gooooooo0ooOo,o00n0 AR, AV OOOO0ODO
ooboooooooo.10bo00o0o0ooo0o, v,ROO
0000000 AW/ wWoooooo.

003000 » 00 AOD0D0OO0DOO0OO V =ar?h0
O0000. 0000000 r0000 Ar,hO0O0O00 AR ODO700000 z=rcosf, y=rsinf 00000000
000. r=1.00 cm, h=2.00 cm, |Ar| < 0.05 cm, |Ah| < z2+y? f=arctan?2 0000,0 4060000
005em00000,VO0000O0O0 (DO0O0O0OOOO0 OO0O0DDOOOOO0O.

0)000 (em®)0000. 00,V 00000 (AV/V O
DD)DDDD,TD AhOO0ODOOOODODODOOO.

rT =

0o 8o x:%(uQ—UQ), y=wv 00000,

0? o? o 0
—+— 0O —, — 0o0oooo.
0x2 = Oy? Y 50 au

O000|r(r+Ar)2(h+Ah)—ar?h| 000000000000
00,0000000,Ar0 AROOOOODOOOO
00.000000V 000000 15% 000,000
09%0r00000,6%0 hOOOD0O0OO0O000O
ooooooo.
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